ST A Al = (== - | = . _{t
Stngal 0L 43 2 F4-Stl=
x-l—
o|d i x}=stw
1. SEX 48
T2 =23 SEHTE) | SHE®%) e ol
0%
@ e 0 0.0%
@ o 127|  100.0%
127|  100.0%
2-1. 2| stugA2 AZa SHE NS ddo =88 FCt.
T&2 23t SEHF=R)| SEHE%) 1gg-gjﬁ
Tl o 80.0%
- 2 0,
@ |[HSAHX| QT 0 0.0% 70.0% o
50.0%
@ |AZEX|YUCt 5 3.9% 40.0% 32.3%
30.0% 56
20.0% 5 o
® |E&Oo|Ct 65 51.2% 10.0% |—0.0%  3:9% i
< 0.0% — bd
X B
@ |1t 41| 323% B8 e | wsol e
R =
® |1 16|  12.6% oo | * * 2o
A 127 100.0% ESEHE%)| 00% | 3.9% | 51.2% | 32.3% | 12.6%
= Chpo| S E0| 40| AEoYE M0 M2 =S SCta MZstn JACkD LIEFGESLICE
Qo Z AMCHEGA| OIO|S0| ENE HES UXE HYXOZR FHUA g JEE =HEUESL O
2-2. 22| Sug Mo HIBst= SA 9| 7t2 XSt
o 100.0%
= = SETE) | SEE%) 90.0%
80.0%
MK UL o 70.0%
@© |MHIEX|QLCE 0 0.0% 7o-0%
50.0% 40.9%
@ | DXLt 18 14.2% 40.0% 32.3%
0,
0.0 14.2%
® 2SOIC 52| 40.9% 10.0%
S oo .
; 0.0% |
JEC 9 a1
@ = Cf 41 32.3% { ~ax | mEo) -
x| o agct
® |j*I3™Ct 16 12.6% o QfLCh ct iy
A 127  100.0% HSEE(%)| 00% | 142% | 40.9% | 32.3% | 12.6%
= S4|0| 7I0| CHE & MYsiCtn SESIFoH, A E AR XY 7t0| O|R0{ & JEE S S




2-3. 22| st 242 4Ho|Ct
R 100.0%
e 23t SE+(Y)| SLE®%) 90.0%
80.0%
@ |MS X YLt 1 0.8% 70.0%
60.0% 5
20 0% 44.1%
@ |AEX|QCH 16 12.6% 40.0%
30.0%
=olC 0 20.0%
® |2so|t 56/ 44.1% 10.0%
0.0%
@ |2™Ect 37 29.1% e
=X o il Jct e
® |ojeazct 17| 134% sq“ gt | oot 7 =
A 127|  100.0% MSEHE%)| 08% | 12.6% | 44.1% | 29.1% | 13.4%

BLOHL St H7I0|A O|2F S0| s LA B EX ugut A
Z

n 100.0%
g 23 SEH+(Y)| SHE®%) 90.0%
80.0%
@ |MS 2K YLt 0 0.0% 70.0%
60.0% 49.6%
50.0%
@ | ™R YLt 6 47% 20.0% 3159
30.0%
14.2%
® |BEo|r} 63|  49.6% 20.0% 17% )
10.0% |—0:0% i:
0.0% =
@ |1c 40| 315% il
a3x | 20| Ve
O 21X 9t a2
® |ojeact 18| 142% o orct Ct =t
A 127/ 100.0% HSEE(%)| 0.0% | 47% | 49.6% | 315% | 14.2%
= e SHMEO| AlXf ROl ZERO| LM = 21 o, stu XA LHOME £ EX 9| HZO|
20 = = AE O2H d50| MEMXEE SHASLCL
2-5. SISt MALQ} Hi A Al "AMof sl MW Ho|L SLuAIt X =& sliFLCt
N 100.0%
72| Bg  [3H2@®)|SHE® 20 0%
80.0%
@ |HSIHX|QLCH 5 3.9% 70.0%
60.0%
50.0% ’
@ |AZXIBCE 16|  12.6% 40.0% 370%  59.9%
30.0%
16.5%
12.6%
@ |BEo|Ct 47| 37.0% 200 | 3.9% i ~
Y ——
@ |act 38| 29.9% H3a
%% | BE0| ojea
— UX|9 e
® |ojeazct 21| 165% G | %o =l
A 127 100.0% HMSCtE(%)| 3.9% | 12.6% | 37.0% | 29.9% | 16.5%
= AMEE ) AME MMESO =88 Wot X| =7t 0|R0{X| 1 on] HiAX =& He()A| X| =3}
Of & O|F0{X| 2 A& LICt




2-6. 2|t = S0 Bt o AS ZAISHALE Z42|E, Stu FHO|X| AAMEH S Sl =40 2
[e) [

st
T2 =& SETE) SEHE®%) 100.0%
90.0%
@ |MHaIZR 10 7.9% 80.0%
60.0%
@ |AZRIELCE 150 11.8% 50.0% 37.0% 37 cor
30.0% 11.89 11.89
® |solct 47| 37.0% 20.0% | —7.9% 6 i 6
00% |t Il i:
@ |2zt 40| 315% M2
aEx| | 2E0| "=l
— x| R
G |0jI2=Ct 15 11.8% ot ot Ct "t
A 127 100.0% Woct=o| 7.9% | 11.8% | 37.0% | 31.5% | 11.8%
= Ao A THEE & O|FOX|1 /UoLf, O THFRAZ R FAIZ 2o Az Lf 24
2l 52 HX|E Soff ePi=9| oo 4=H 7|20 A &L T
2-7. 22| SnoME L, MAELY 2|, ATE |AMX] S ATH CiTt BRE 7P EAMUE, &
nEHO|X| S22 H| STt}
T2 23 SEHHE)| SHE®%) 100.0%
o 0
N 80.0%
@ |[HSAHX| G0t 2 1.6% 70.0%
60.0%
50.0% 40:2%
@ |AEXIRC 3 2.4% 20.0% 33.1% i
30.0% 22.8
20.0%
® |ESo|Ct 42 33.1% 13_8;) L e 4% i iz
0.0% —
@ |1ct 51 40.2% Mol
aEx| | RE0| e
oz ENE JCk
© et 29| 228% o | et o Ct
A 127 100.0% Moct=on| 1.6% | 24% | 33.1% | 402% | 22.8%
= QYEERSE & O|FO0X|2 QO M2stn JACH, A E =53 25 s2= HH 222
AAMEE S BEE Magds UEE SHISLCHL

2-8. 22| tul A0 M HjA2 ALSHA o] Ro{TICt

Tz =g SEHFR) | SEHE%) 188-%
N 80.0%
@© | MO Ot 1 0.8% 70.0%
60.0% e
50.0% % .
@ :]_%_lxl %!-I:I' 7 55% 40'0(%(: 36.2%
30.0% —
® |2SO0ICt 53| 41.7% Ao [ osw 55% -
0.0% L
@ |L=EC} 46 36.2% Pk:
- JEX| | 50| s e
® |3 20|  157% if ot | ot =T e
Al 127] 100.0% Moct=2(%)| 08% | 55% | 41.7% | 36.2% | 15.7%

= HiAJO] YR o2 RIESHA O|ROX|1 ACEL LIEHGOH, B4 0] STY B2 =2|dFAtet
YL(W)AZE =72 B A{SHO] X[CHot WHE HiAO| O| RO0{E 4 RU=F L HOPZAS LIS




2-9. 92| Stugd FAs Hoksiot
T 2% 8EY+(T)| SLE®) 00
N 80.0%
@ |do{2HX| QT 10 7.9% 70.0%
60.0% 1539
50.0% 3%
@ |2=xc 10 7.9% 20.0% 29:1%
30.0% -
® [ESo|tt 55 43.3% 20.0% | —7.9% —7.9% 11.8%
10.0% i:
0.0% | b A
@ |2™Ect 37 29.1% e
JEX| | 250 of<3
2|2 aot
® |OjI1=ct 15 11.8% ot 4CH Ct 2Lt
A 127|  100.0% Moct=(y)| 7.9% | 7.9% | 43.3% | 29.1% | 11.8%
= oFEEl S7F LHOAM Ch=2| st i=0| 0| &35t7| 2t Hx 2L ME7F SESHH X|FEL}
Hot SAM0l E = 2 A 22 O] T3t ASHA O|F0{ A JAEFE ST
2-10. 242 HiAS FAl= 22 TESIOL
St =2 SETE) SHE®%) 100.0%
90.0%
" 80.0%
@ |[HSAHX| G0t 0 0.0% 70.0%
60.0%
0,
@ |AEXIRC 7 5.6% oo 373% " 375%
0.0 24.6%
® |BEo|Ct 47| 37.3% 200% o 5% i iz
0.0% Co
@ |1c 41 325% Hea
AEx| | 280 of<2
o - =4 EPNI mi=gu
® |jeazc 31| 246% o %0 oo 2rt
A 126/  100.0% MoCt= (%) 00% | 56% | 37.3% | 32.5% | 24.6%
= HiASHE RE|HRAHES0| TfR&2 THSICHD St n, O =3| A| XIESHA Cietst HjAlg = A
EE UssHlELTH
2-11. L= HutX o 2 st g A of 2HEotC}.
- 100.0%
T = SETE) SEHE®%) 90.0%
80.0%
@ | M2 HX|&LCH 7 5.5% 70.0%
60.0% 115%
50.0% ==
@ | DXLt 13 10.2% 40.0% 26.8%
30.0% :
E0|C 9 20.0% 10:2% 12.6%
® |280ICt 57| 44.9% 0y | 55% —
0.0%  Ne— ] -
@ |act 34| 268% Sl
%% | BE0| ojea
© — o EPNIY =g,
G |OjI1=ct 16 12.6% o orct Ct 2ot
A 127 100.0% Moct=o| 55% | 102% | 44.9% | 26.8% | 12.6%
- St gA 2 IR E TSI Siglen, o= U2 HERL ol7dxEHoz SHAE0|7
Z 0 oEgs e 240 25 JAEE SIS




2-12. 22| st g49| 2= = Hohsict
N 100.09
2e 23 SENF)| SLE%) o0 0%
80.0%
@® |THIEX|QCt 5 3.9% 70.0%
60.0% 49.6%
50.0%
@ |AEX|QCH 17 13.4% 40.0%
30.0% WD 197%
@ E%O“:l' 63 496% 20.0% 3.9% . .
e e
0.0% ==
@ |1zo 25| 19.7% S|
o, Q2K | HEO| . e
® |ojeazct 17| 13.4% 3; ot | oo ST "o
A 127/ 100.0% W2 3.9% | 134% | 49.6% | 19.7% | 13.4%
= NSE Mo 227t iR E MYSICtD S en, B S49| HfAlo| OrF 2| 7K &2
Hi A2 StO] St SO A MEEst SA410| MS 2 = JEF cHSSLICH
2-13. 22| SuF MM MBSt SAQ &2 MOSILL,
N 100.0%
T 22 SEHT(H)| SHE®%) oo
80.0%
© |HeagR 2 16% 70.0%
60.0%
50.0% 40.99 .
@ |2 6| 4% 20.0%
30.0%
15.0%
@ |EEo|Ct 52| 40.9% 200% 4 7%
10.0% i:
0.0% it
@ |2zt 48] 37.8% Mo
E—|X|o+ :I_go'-'X| E%OI = |. DH_(')_:L
ELPN LS =L
® |ojeact 19/ 15.0% r“ ofch | ot Ege
C
A 127 100.0% WA 16% | 47% | 40.9% | 37.8% | 15.0%
= IR E S4 Y2 MUYSICHD iAo, sHdS0| d&tar HEo| s FYTL S 10 HHEHS
HESIEE SIS LI
2-14. 22| gt SN M CHEFot ZF2 S40] M3 EICE
N 100.0
2= 2 SEHH®) SHE%) e
80.0%
© |HSAZRX|RCE 3 2.4% 70.0%
60.0% e
50.0% 6
@ |2Zx|gct 9 7.1% 20.0% 32.3%
30.0%
15.7%
® |2soltt 54| 425% 00% |7 i =
0.0% |
@ |2z 41 323% He{ 1
2 x| O A2X | 2350l 2ic} Of2 1
ELPN e 1=
® |jeIact 20  157% Erb orct | oo Yot
A 127 100.0% WA 24% | 7.1% | 425% | 32.3% | 15.7%
- SN E S 379 S4/0| S ECtD LIEtG oD, ATt Al HEHLS Sof 22 ARz
CrYet Z2|HES M &SI & O CHYst A S MISHEE SIS LICH
2-15. 22| stuwe| A2 YXo R FHU= MAO|LCE




" 100.0%
7 2y SE(T) SHEM®) 90.0%
80.0%
@ |HEIHX QL 2 1.6% 70.0%
60.0% 48.0%
50.0%
@ |[AHX| AL} 9 7.1% 40.0% 28.3%
30.0%
14.2%
® |BEo|c} 61|  48.0% 0% | _1e% 1% i hd
0.0% e
@ |act 36| 283% Hea
23K | BE0| yCl
o BHE H=
® |ojeazc 18] 14.2% g | ¥ Bt
A 126 99.2% BAG1| 1.6% | 7.1% | 48.0% | 28.3% | 14.2%

- BIIAO| TR FHNMOICH H2ASHR| B S S 0| AWET| 412 D/ BYYA BFE 4 Y2 oo

=]
QUAXOZ FHUL AA} E|EE SHASL|CH

- 100.0%
T = SEH=R)| SEHE%) >
90.0%
_ 80.0%
@ |HA DX 15 11.8% 70.0%
60.0%
@ |AMAHOIE 33 26.0% 50.0% -
40.0% 36.2%
0,
@ (A= o 27 21.3% 30.0% 26.0% 54 3%
20.0% %—i .
ojofF X 9 10.0% i 2
@ |33 SE 46 36.2% 0.0% j ===
H Al Al A A== | oot
® |7IEt 6 4.7% N AN TASS 8
g | oqE | oy | =
A 127 100.0% HSChE(%)| 11.8% | 26.0% | 21.3% | 36.2% | 4.7%

7= =g SEHT(E)| SEE®%) 100.0%
90.0%
i 80.0%
@ |gAa Her} 42 33.3% 70.0%
60.0%
N 50.0% 38.9%
@ |F3-42 16 12.7% 40.0% |—33-3%
30.0%
20.0% 12.7%
® |F1-2% 19 151% 10.0% L
0.0% L
SHAL
@ |79 oreiect. 49 38.9% oogy | T
=
A 126|  100.0% Moct=()|  33.3% 12.7% 15.1% 38.9%

~ OF2 7EE Z20 34 HE HS0] H2HO0, SRR/ PNl ERES FE6H0]
FPELOIM OFEAAL 3 SDY 4 JES HEE NI




19. OLEMALE 31X| & 32(@.0.00 Bt 32) 1 0|fE?

- 100.0%
T 2% SEHH)| SHE®%) 90.0%
80.0%
@ [AlZHOl BloiA 39| 47.0% 70.0%
60.0% -
@ |AA} D|ZH| 8 9.6% 50.0% /0%
40.0%
® |Y8to] SIojA 12 14.5% 30.0%
20.0% 1.8%
o 10.0% -
@ |g&=c=z 20 24.1% 0.0% =
A|ZHO] ALA Qloto] | &b
© |7Igt 4 48% it | oot | oo | 7IE
2OIM | O|EH| | GOl | 22
A 83| 100.0% HSHE(%)| 47.0% | 9.6% | 145% | 24.1% | 4.8%
= OFEAIALZ 72 O|R& TS AIZH| SOjMO|D, RE o2 HX| Qe 2 Z&LC
20. OFEHAALE 3t B3R(©.0.00 Bet d2) 1 0|fE2
—E— _E__é_l_ OCIA |:|;| orcCt o/ 1000%
- =] o e T(3)| oe=(%) 90.0%
80.0%
@ ?;l%l'% ¢3H7—|" 14 18.4% 70.0%
60.0%
@ |gde= 15 19.7% 50.0% 40.8%
40.0%
® |Hi7F DIObA 31 40.8% 28-83 184%  197% 15.8%
- e 5.3%
@ (o s 4 53% 10.0% 1 i .
?_-|7|-2 AI'I;}I‘I HH7|- 'o;l-ﬁ
® |7Igt 12| 15.8% o | on | amud | o= | IE
4z | ez | amM | 59
A 76| 100.0% Hoct=2(y)| 184% | 19.7% | 40.8% | 5.3% | 15.8%

FEAALE Bt Ol R HIZF LOtA R0, 7SO ZHERSE MAtRtE RS = AT &8 =
C
















